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1. Find the value of xif /og 8=3
X

(i) (-1) (i) 3 (i) 5 (iv) 2 (v) 1

2. Find the value of xif /0g3x=4

(i) 84 (ii) 78 (iii) 81 (iv) 80 (v) 82

3. Find the value of xif /og327= X

(i) 4 (ii) 0 (iii) 2 (iv) 3 (v) 6

4. Find the value of xif /og\/.3,(9x+1) =2

(i) 2 (i) : (iii) 2 (iv) 2 (v) 0
oo (i) g i) g v) T

1
5. Find the value of xif /og - =-4
x 625

(i) 5 (ii) 6 (iii) 8 (iv) 2 (v) 4

6. Find the value of xif /og (x+9) + /log(x—9)=/log4

(i) (85,(—v85)) (ii) (v85,(—85)) (iii) (85,(—85)) (iv) (v85,(—v85))

7. Find the value of xif /ogs(x+4) - /ogs(x—4)= 1

(i) % (if) % (iii) 3 (iv) > (v) 20
7 9 7 7 5

8. Find the value of xif /0g6(x2—45) =2

(i) (9,(=8)) (i) (10,(=9)) (i) (9,(=9)) (iv) (10,(-8))



log x log 25
9. Solve- =’ 1
log 9 /o
og 95
(i) : (ii) ! (iii) (_1) (iv) ! (v) !
i) - i) - i) (- iv) - V) -
79 83 81 27 81
Jog (x?+25)
10. If =1, find x
/og2x2

(i) (-2,5) (i) (-4,6) (i) (4,-5) (iv) (-5,4)

(v)

(_515)



Assignment Key
1) (iv) 2) (iii) 3) (iv) 4) (iii) 5) (i) 6) (iv)
7) (i) 8) (iii) 9) (v) 10) (v)
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